This version of Total HTML Converter is unregistered.

Alg

| PREVIEW | CLOSE
Quiz: Graphs of Quadratic Functions
Question 1a of 15 (3 Graphing Quadratic Equations 148627 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following functions best describes this graph?
&Y
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Ao 4
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Choice Feedback
A- ,.';:'\L'-I~'+'_L
B. |+ x+5ia-4
C |z -t
Global Incorrect Feedback
The correct answer is: L = SR =R el
Question ib of 15 ( 3 Graphing Quadratic Equations 244979 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following functions best describes this graph?
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Choice Feedback
A. | Wi d
v =20 Zw 12 | Correct!
C. |vw=re=") -0,
D. | \¥=(=1Z1x =)

Global Incorrect Feedback

. 7
The correct answeris: v - =" 1+ =01z,

Question 1c of 15 (3 Graphing Quadratic Equations 244980 )

Maximum Attempts: 1
Question Type: Multiple Choice

Maximum Score: 2
Question: Which of the following functions best describes this graph?
i | 1
| I|
II I|
IIIII IIII
\
-4 Y / -
‘\ ,/Jr
L 4
Choice Feedback
.« +7.:-1" |Correct!
B. |[v-rc1E5iVx -
C- I _r _r-tl‘l.;._r-i
D R I

Global Incorrect Feedback

The correct answer is:
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Question 2a of 15 ( 3 Graphing Quadratic Equations 148628 )
Maximum Attempts:

Question Type:
Maximum Score:

1

Multiple Choice
2

Which of the following functions best describes this graph?

Question:
-4
Choice Feedback
A. L si.”- I =
v-ue 11l 7 | Correct!
C. |+ «-Fi-8
D. |v-1c z¥ar

Question 2b of 15 ( 3 Graphing Quadratic Equations 244981 )
Maximum Attempts:

Question Type:
Maximum Score:

1

¥

Global Incorrect Feedback

The correct answer is: v

R [V

Multiple Choice

Which of the following functions best describes this graph?

2
Question:
e
Choice Feedback
A.
B.
C.
*D. Correct!
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Global Incorrect Feedback

The correct answer is: + .

Question 2c of 15 ( 3 Graphing Quadratic Equations 244982 )

Maximum Attempts: 1

Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following functions best describes this graph?
. AV
IIIII IIII
| f
| .'
\ f
/
\ /
> \/ -
kJ
Choice Feedback
A FE -~ e
B. | /=+-Lix-T1i
C. j; = "\.: T
i ;== Lix =1 | Correct!

Global Incorrect Feedback

The correct answer is: + x =T{x+"]

Question 3a of 15 ( 3 Graphing Quadratic Equations 148629 )

Maximum Attempts: 1

Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following functions best describes this graph?
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Choice Feedback
L s -z:-15 |Correct!
B. |z ziicrs
C. | #-t:-8
D R P

Global Incorrect Feedback

The correct answer is: v - =7 L1,

Question 3b of 15 ( 3 Graphing Quadratic Equations 244984 )

Maximum Attempts:
Question Type:
Maximum Score:

1

Multiple Choice

2

Which of the following functions best describes this graph?

Question:
-
Choice Feedback
A. |1 " -Fa-h
B. [ v -1« Zivdl
. L« -%.:~1h8 | Correct!
D. [V -rcteize

Global Incorrect Feedback

The correct answer is:
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Question 3c of 15 ( 3 Graphing Quadratic Equations 244985 )
Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2
Question: Which of the following functions best describes this graph?
1 | T
IIIII III|
|IIII JIEIII'
IR_ )
P \_./ -
ki
Choice Feedback
A. N ,a: -fr+ 0
B. | .-« =aMx 4
C. ST os TN
. =t =80+ 20 | Correct!

Global Incorrect Feedback

The correct answer is: 1 & -+,

Question 4a of 15 ( 3 Graphing Quadratic Equations 148630 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which graph is defined by the function given below?

PN R W ST

Choice | Feedback
A. |Graph A
B. |Graph B
*C. graph Correct!
Graph
D. D

Global Incorrect Feedback

The correct answer is: Graph C.
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Question 4b of 15 ( 3 Graphing Quadratic Equations 244986 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which graph is defined by the function given below?

e g
cE - M =00

. L

Choice | Feedback
Graph A] Correct!

B. |Graph B
Graph
C. C
Graph
D. D

Global Incorrect Feedback

The correct answer is: Graph A.

Question 4c of 15 ( 3 Graphing Quadratic Equations 244987 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which graph is defined by the function given below?
FE D E

\/ \/
1] B. C D
Choice | Feedback
A. |Graph A
*B. | Graph B| Correct!
Graph
C. C
Graph
D. D

Global Incorrect Feedback

The correct answer is: Graph B.
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Question 5a of 15 ( 3 Graphing Quadratic Equations 148631 )
1

Maximum Attempts:

Question Type:

Maximum Score:
Question:

Choice |Feedback
Graph A] Correct!
B. |Graph B
Graph
C. C
Graph
D. D

Question 5b of 15 ( 3 Graphing Quadratic Equations 244988 )
1

Maximum Attempts:
Question Type:
Maximum Score:

Question:
Choice | Feedback
A. |Graph A
B. |Graph B
*C. graph Correct!
Graph
D. D
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P U R
R E R ]

Multiple Choice
2
Which graph is defined by the function given below?

cE T~ T

Global Incorrect Feedback

The correct answer is: Graph A.

Multiple Choice
2
Which graph is defined by the function given below?

r—

Global Incorrect Feedback

The correct answer is: Graph C.
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Question 5c of 15 ( 3 Graphing Quadratic Equations 244989 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which graph is defined by the function given below?
R e
II ] | | i | |
\ | 10t o/ |I I
LA _."I II II W/ i |
"‘\‘-/II HI IrI Ill IrI
\ I|'.| |
\/ v
A B. C D
Choice | Feedback
A. |Graph A
B. |Graph B
Graph
C. C

. graph Correct!

Global Incorrect Feedback

The correct answer is: Graph D.

Question 6a of 15 (3 Graphing Quadratic Equations 148632 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which graph is defined by the function given below?
P E RN E

1 | 5
II ||I I'\.-" I|II ||I l"u'll
|III I.'II '.lul.l
!
i1} B C D
Choice | Feedback
A. |Graph A
*B. | Graph B| Correct!
Graph
C. C
Graph
D. D

Global Incorrect Feedback

The correct answer is: Graph B.
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Question 6b of 15 ( 3 Graphing Quadratic Equations 244990 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which graph is defined by the function given below?

- —-
RS P e

EER

Choice | Feedback
Graph A] Correct!

B. |Graph B
Graph
C. C
Graph
D. D

Global Incorrect Feedback

The correct answer is: Graph A.

Question 6¢c of 15 ( 3 Graphing Quadratic Equations 244991 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which graph is defined by the function given below?

¢ caus g
¢ ;-
B L¥+ 3 1.c~ 3]

.I'.I ,{ ot | .llll I."I |II .'I

\ | | \
"\.,-"l | 1 ] o )

Choice |Feedback
*A.| Graph A| Correct!

B. |Graph B
Graph
C. C
Graph
D. D

Global Incorrect Feedback

The correct answer is: Graph A.
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Question 7a of 15 ( 3 Graphing Quadratic Equations 148633 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: (4, -4), (4,-4)

Question: Find the vertex of the function. Write your answer in the form (x,y). Use the

slash mark (/) as a fraction bar if necessary.

5
o e em [
e ok

|
x =

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (4,-4).

Question 7b of 15 ( 3 Graphing Quadratic Equations 244993 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: (3, -3), (3,73)

Question: Find the vertex of the function. Find the vertex of the function. Write your
answer in the form (x,y). Use the slash mark ( /) as a fraction bar if
necessary.

con Bxrk

x

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (3,-3).

Question 7c of 15 ( 3 Graphing Quadratic Equations 244994 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: (5, -5), (5,-5)

Question: Find the vertex of the function. Write your answer in the form (x,y). Use the

slash mark ( / ) as a fraction bar if necessary.

Attempt| Incorrect Feedback
1st

Correct Feedback
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Global Incorrect Feedback

The correct answer is: (5,-5).

Question 8a of 15 ( 3 Graphing Quadratic Equations 148634 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:
Correct Answer:
Question:

1

Text Fill In Blank

2

false

(3/2, -93/4), (3/2, - 93/4), (3/2,- 93/4)

Find the vertex of the function. Write your answer in the form (x,y). Use the

slash mark (/) as a fraction bar if necessary.

<

o R
P

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (3/2,-93/4).

Question 8b of 15 (3 Graphing Quadratic Equations 244995 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:
Correct Answer:
Question:

1

Text Fill In Blank
2

false

(5/2, -85/4)

Find the vertex of the function. Write your answer in the form (x,y). Use the

slash mark ( / ) as a fraction bar if necessary.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (5/2,-85/4).

Question 8c of 15 (3 Graphing Quadratic Equations 244996 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:
Correct Answer:
Question:

1

Text Fill In Blank

2

false

(1/2, -93/4), (1/2,-93/4), (1/2, - 93/4), (1/2,- 93/4)

Find the vertex of the function. Write your answer in the form (x,y). Use the

slash mark as a fraction bar if necessary.

Attempt| Incorrect Feedback

1st
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Correct Feedback

Global Incorrect Feedback

The correct answer is: (1/2,-93/4).

Question 9a of 15 ( 3 Graphing Quadratic Equations 148635 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: (-4, -1), (-4,-1)

Question: Find the vertex of the function. Write your answer in the form (x,y). Use the

slash mark ( / ) as a fraction bar if necessary.

S A Ry

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (-4,-1).

Question 9b of 15 ( 3 Graphing Quadratic Equations 244997 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:
Correct Answer:
Question:

1

Text Fill In Blank
2

false

(-3,-2), (-3,-2)

Find the vertex of the function. Write your answer in the form (x,y). Use the

slash mark ( / ) as a fraction bar if necessary.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (-3,-2).
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Question 9c of 15 ( 3 Graphing Quadratic Equations 244998 )
Maximum Attempts: 1
Question Type: Text Fill In Blank
Maximum Score: 2
Is Case Sensitive: false
Correct Answer: (-5, -3), (-5,-3)
Question: Find the vertex of the function. Write your answer in the form (x,y). Use the

slash mark (/) as a fraction bar if necessary.

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (-5,-3).

Question 10a of 15 ( 3 Graphing Quadratic Equations 153034 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Find the vertex and x-intercept(s) of the function given below.
SRl S0
Choice Feedback
A Vertex: (1,9);
" | Intercepts: x = -4, -2
B. Vertex: (1,-5);

Intercepts: x = -4, 2

Vertex: (1,-9); |
Intercepts: x =4, -2 Correct!

Vertex: (-4,2);
Intercepts: x = 3, -3

Global Incorrect Feedback

The correct answer is:
Vertex: (1,-9);
Intercepts: x = 4, -2.

Question 10b of 15 ( 3 Graphing Quadratic Equations 244999 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Find the vertex and x-intercept(s) of the function given below.
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Choice

Feedback

Vertex: (-3,-1);
Intercepts: x = -4, -2

Correct!

Vertex: (1,-5);
Intercepts: x = -4, 2

Vertex: (1,-9);
Intercepts: x =4, -2

Vertex: (-4,2);
Intercepts: x = 3, -3

Global Incorrect Feedback

The correct answer is:
Vertex: (-3,-1);
Intercepts: x = -4, -2.

Question 10c of 15 ( 3 Graphing Quadratic Equations 245000 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Find the vertex and x-intercept(s) of the function given below.
N R N
Choice Feedback
A Vertex: (1,9);
" | Intercepts: x = -4, -2
Vertex: (-1,-9); ,
. Intercepts: x = -4, 2 Correct!
C Vertex: (1,-9);
" |Intercepts: x = 4, -2
D Vertex: (-4,2);
" |Intercepts: x = 3, -3

Global Incorrect Feedback

The correct answer is:
Vertex: (-1,-9);
Intercepts: x = -4, 2.

Question 11a of 15 ( 3 Graphing Quadratic Equations 153035 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Find the vertex and x-intercept(s) of the function given below.
Choice Feedback
A Vertex: (0,6);
" |Intercepts: x =-2, 6
Vertex: (1,5);
'3 14 14 ]
B. Intercepts: none Correct!
C Vertex: (-1,9);
" lIntercepts: none
D Vertex: (-2,6);
" |Intercepts: x=1,6

Global Incorrect Feedback

The correct answer is:
Vertex: (1,5);
Intercepts: none.
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Question 11b of 15 ( 3 Graphing Quadratic Equations 245001 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1
Multiple Choice
2

Find the vertex and x-intercept(s) of the function given below.

i+ h

Choice

Feedback

Vertex: (0,6);

Intercepts: x=-2,6

Vertex: (1,5);
Intercepts: none

Vertex: (-1,5);
Intercepts: none

Correct!

Vertex: (-2,6);

Intercepts: x =1, 6

Global Incorrect Feedback

The correct answer is:
Vertex: (-1,5);
Intercepts: none.

Question 11c of 15 ( 3 Graphing Quadratic Equations 245002 )

Maximum Attempts:
Question Type:
Maximum Score:

1
Multiple Choice
2

Find the vertex and x-intercept(s) of the function given below.

Question:
‘," = &7 -'I p E
Choice Feedback
Vertex: (-2,3); Correct!

Intercepts: none

B Vertex: (1,5);

" |Intercepts: x =-2, 6
C Vertex: (-1,9);

" | Intercepts: none
D Vertex: (-2,6);

" lIntercepts: x=1,6

Global Incorrect Feedback

The correct answer is:
Vertex: (-2,3);
Intercepts: none.

Question 12a of 15 (2 Graphing Quadratic Equations 328550 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1
Multiple Choice
2

When the graph of a quadratic function crosses the x-axis twice, the

x-coordinate of the vertex lies

between the two x-intercepts.
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Choice

Feedback

around
halfway

exactly
halfway

Correct!

C. |anywhere

Global Incorrect Feedback

The correct answer is: exactly halfway.

Question 12b of 15 ( 2 Graphing Quadratic Equations 328551 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: When the graph of a quadratic function crosses the x-axis twice, the

x-coordinate of the _____ lies exactly halfway between the two x-intercepts.

Choice Feedback

A. |origin

B. iyntercept
vertex Correct!

Global Incorrect Feedback

The correct answer is: vertex.

Question 12c of 15 ( 2 Graphing Quadratic Equations 328552 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: When the graph of a quadratic function crosses the x-axis twice, the __
the vertex lies exactly halfway between the two x-intercepts.
Choice Feedback
X_
I
coordinate Correct!
y_
B. coordinate
C. |y-axis
Global Incorrect Feedback
The correct answer is: x-coordinate.

Question 13a of 15 ( 2 Graphing Quadratic Equations 148639 )
Maximum Attempts: 1
Question Type: Text Fill In Blank
Maximum Score: 2
Is Case Sensitive: false
Correct Answer: factors
Question: You can easily identify the x-intercepts of the graph of a quadratic function by

writing it as two binomial .

Attempt| Incorrect Feedback

1st
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Correct Feedback

Global Incorrect Feedback

The correct answer is: factors.

Question 13b of 15 ( 2 Graphing Quadratic Equations 245005 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:
Correct Answer:
Question:

1

Text Fill In Blank
2

false

factors

You can easily identify the x-intercepts of the graph of a quadratic function by
writing it as two binomial __

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: factors.

Question 13c of 15 ( 2 Graphing Quadratic Equations 245006 )

Maximum Attempts: 1

Question Type: Text Fill In Blank
Maximum Score: 2

Is Case Sensitive: false

Correct Answer: factors

You can easily identify the x-intercepts of the graph of a quadratic function by
writing it as two binomial __

Question:

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: factors.

Question 14a of 15 ( 3 Graphing Quadratic Equations 148640 )

Maximum Attempts: 1
Question Type: Numeric Fill In Blank
Maximum Score: 2
Correct Answer: 1

Question: Find the x-coordinate of the vertex of the function given below. You may enter
just the number.

Attempt| Incorrect Feedback
1st
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Correct Feedback

Global Incorrect Feedback

The correct answer is: 1.

Question 14b of 15 ( 3 Graphing Quadratic Equations 245007 )

Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: 1

Question: Find the x-coordinate of the vertex of the function given below. You may enter

just the number.

sl BN 4)

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 1.

Question 14c of 15 ( 3 Graphing Quadratic Equations 245008 )

Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: 1

Question: Find the x-coordinate of the vertex of the function given below. You may enter

just the number.

P ]

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 1.

Question 15a of 15 ( 3 Graphing Quadratic Equations 148641 )

Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: -5

Question: Find the x-coordinate of the vertex of the function given below. You may enter

just the number.

Attempt| Incorrect Feedback
1st
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Correct Feedback

Global Incorrect Feedback

The correct answer is: -5.

Question 15b of 15 ( 3 Graphing Quadratic Equations 245009 )

Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: -6

Question: Find the x-coordinate of the vertex of the function given below. You may enter

just the number.

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: -6.

Question 15c of 15 ( 3 Graphing Quadratic Equations 245010 )

Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: -7

Question: Find the x-coordinate of the vertex of the function given below. You may enter

just the number.

PRV F Rk

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: -7.
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